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QUESTION 1

What three components of WLS can be managed by the WLS Management Pack EE?
A. Applications Deployments

B. SOA Composites

C. WLS Domains

D. WLS Managed Servers

E. Oracle ESB

Correct Answer: ABC

QUESTION 2

Which component is optimized for the JRockit VM?

A. swing-based desktop applications

B. browser-based applets

C. embedded devices

D. server-side applications

E. mobile phones

Correct Answer: D

The Oracle JRockit JDK includes the Oracle JRockit Java Virtual Machine (JVM), which is developed uniquely for server-

side applications and optimized for Intel architectures, ensuring reliability, scalability, and manageability for Java
applications.

QUESTION 3

What is the primary purpose of the Middleware Diagnostics Advisor (MDA) included in WLS Management Pack EE?
A. to automate the SQL tuning process by comprehensively exploring all the possible ways of tuning a SQL statement
B. to facilitate proactive performance and availability management by auto-finding problems and suggesting solutions
C. to find configuration problems by comparing WLS configuration to a Gold Image configuration

D. to provide comprehensive advice on how to optimize schema design in order to maximize application performance
E. to analyze the EM configuration and suggest configuration changes that will extend the stability of EM

Correct Answer: B
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Reduce problem resolution time through middleware diagnostics advisor which provides "root cause" findings in context
of the most relevant configuration parameters and offers suggestions for each finding.

QUESTION 4

Which configuration file must a user edit to configure Oracle HTTP Server?
A. httpd.conf

B. obj.conf

C. workers.properties

D. magnus.conf

E. oraclehttp.conf

Correct Answer: A

QUESTION 5

When integrating a CacheStore with a database, which technique is correct for managing database connections?
A. Use a connection pool provided by an application server, the JDBC driver, or a third party.

B. Create a new connection every time a CacheStore method is invoked.

C. Create a new connection in the CacheStore constructor and store a to it that can be accessed by the CacheStore
methods.

D. Configure Coherence to use its built-in capabilities to manage connections.

Correct Answer: A

QUESTION 6

Consider the following code:

NamedCache namedCache = CacheFactory.getCache (“stock”);
Stock stock = (Stock) namedCache.get (“budgies”);
stock.increment (1) ;

namedCache .put (“budgies”, stock);

If the initial stock amount was 15, and 5 different clients (in different JVMs) attempted to execute the same code
simultaneously, what would be the resulting level of stock?

A. 20, because Coherence does implicit locking

B. 15, because a concurrency control exception will be thrown
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C. 16, because of the lack of concurrency control
D. undefined, because of the lack of concurrency control

Correct Answer: C

QUESTION 7

What are the three business drivers for cloud computing? (Choose three.)
A. better resource utilization

B. enterprise agility

C. higher customer support quality

D. ease of administration

E. elastic scalability

Correct Answer: ADE

QUESTION 8

Which three areas are automatically optimized by the Oracle JDK ergonomics? (Choose three.)
A. Garbage Collector

B. Debugging options

C. Heap size

D. Class loader

E. Runtime compiler

Correct Answer: ACE

QUESTION 9

Which statement describes the difference between the Runtime Analyzer and JRockit Flight Recorder?
A. Only Runtime Analyzer allows detailed heap analysis.

B. Only Flight Recorder allows "back-in-time" analysis.

C. Thread deadlock analysis is not possible in Flight Recorder.

D. Flight Recorder cannot be run in an "always-on" mode.

E. Flight Recorder causes significantly higher processor overhead than Runtime Analyzer.
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Correct Answer: B

QUESTION 10

Which Java command would list all the running Java applications on a system?
A. jpsm -m

B. jlist -m

C. jproc -m

D. jplist -m

E. jps -m

Correct Answer: E

QUESTION 11

Which tool is not shipped with the JRockit JDK?
A. Mission Control

B. Flight Recorder

C. Studio Profiler

D. Memory Leak Detector

Correct Answer: D

QUESTION 12

Which change cannot be made in an assembly at deployment time?
A. setting the appliance\\'s memory and CPU requirements

B. changing the listening port of the product

C. not deploying an appliance by setting its target count to zero

D. not deploying an appliance by removing it from the assembly

Correct Answer: A

QUESTION 13

Assume that network latency between two data centers is 5 milliseconds with minimal packet loss.
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Identify two problems with running one Coherence cluster that spans these two data centers (Choose two.)
A. Outage in the WAN link can cause split brain.

B. Access and writes to data takes longer to complete.

C. Total loss of power in one data center can lead to split brain.

D. Network latency will lead to cluster instability.

Correct Answer: AB

QUESTION 14

Which two components are required as part of any EM deployment? (Choose two.)
A. Oracle Management Service

B. Oracle Management Repository

C. Oracle Ops Center

D. Bl Publisher

E. Software Library

Correct Answer: AB

https://docs.oracle.com/cd/B19306_01/em.102/b40103/pre- installation_requirements.htm#CHDEEJEB

QUESTION 15

Which three plug-ins are pre-installed with EM 12¢?
A. Oracle Fusion Middleware

B. Oracle Cloud Application

C. Oracle Database

D. Oracle MOS (My Oracle Support)

E. Exalogic Elastic Cloud Infrastructure

Correct Answer: ADE
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